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2015 ££ 10 A
JE& AF
S8 HERPRED =Y EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.00 - 0.07 0.01 &
LA T 1.512 0.00-0.78 0.04 =
b (HCI) 4545 0.01—1.40 0.15 s
#ALE (HF) 0.306 0.00-0.19 0.02 s
—A/EWT (SO2) 15.147 0.04 — 6.62 2.29 =
—& bk (CO) 7.578 0.00 — 3.53 0.02 e
HAY) (NOx)
DIZ&/EE (NO2) 30.303 0.34-9.02 2.40 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fohr 0.756 0.00 — 0.01 0.01 e
A e 0.756 0.01-0.10 0.04 =
/b= (HCI) 0.756 0.10-0.18 0.15 e
FALFE (HF) 0.072 0.02 - 0.03 0.02 s
— A bk (SO2) 3.789 1.79 - 2.67 2.29 =
—& [l (CO) 3.789 0.00 - 0.08 0.02 &
HAY) (NOx)
PAZE EE (NO2) 15.147 1.02 -4.81 2.41 yoss
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
7K 0.003789 0.000136 =
o S SR 0.003789 <0.000029 =
B EEaEm 0.0378 <0.0028 &
IR R g ) 7.575 x 10°° 1.3 x 1012 =




75 e e B s it
yecleabal. it =S

2015 ££ 10 A
JE & BF
S8 HERPRED =Y SEE{E R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.00 - 0.13 0.00 &
LA T 1.512 0.01-0.78 0.09 =
/b= (HCI) 4545 0.01-0.87 0.08 s
#ALE (HF) 0.306 0.00 - 0.14 0.02 s
—A/EWT (SO2) 15.147 0.01 —4.49 1.69 =
—& bk (CO) 7.578 0.00 — 0.06 0.02 e
HAY) (NOx)
PLZ&AB%E (NO2) 30.303 0.47 - 5.07 1.51 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fokr 0.756 0.00 — 0.02 0.00 e
A e 0.756 0.03-0.18 0.09 =
/b= (HCI) 0.756 0.05-0.12 0.08 e
FALFE (HF) 0.072 0.01-0.02 0.02 s
— A bk (SO2) 3.789 1.34-1.91 1.68 =
—& [l (CO) 3.789 0.02 - 0.03 0.02 &
HAY) (NOx)
PAZE EE (NO2) 15.147 0.58 - 3.17 1.51 yoss
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
x FEZA 1: <0.000138 =
0.003789 B 200: <0.0003 =
S & A DN K& 1: <0.000027 =
0.003789 FE A 200: <0.0010 =
B EEE® B 1. <0.0026 yiss
0.0378 B 200: <0.0045 =
— IR R g (V) EA 1:4.0x 1012 =
7.575x 10° =

A 20: <527 x 1
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